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&k f7

PS#& BN ER 55 X (£ D 4)

=
ki = 2 (mm) | MR Ge/m | 1KLY REGe) W ke) W
B 1 D32 8 700 1 6.23 54.20 596 | —
B 2 D32 7 480 " 6.23 46.48 511 | —
B 3 D19 4 140 51 2.25 9.32 415 |1
B 4 D16 1 550 98 1.56 2.42 237 |
gy 1819 kg
s1 D15 2 280 34 1.56 3.66 121
s2 D16 3 020 18 1.56 4.7 85 |1
s3 D18 3 620 4 1.56 5.65 23 [
A 229 ke
H 1 D18 4 700 28 1.56 7.33 205 | |
H 2 D18 1880 76 1.56 2.93 223 | )
H 3 D15 940 76 1.56 1.47 nz | J
H 4 D13 510 16 0.605 0.51 s | [
P 548 kg
c1 D35 7 500 110 7.51 56.33 6196 ||
c2 D35 7 500 18 7.51 56.33 1014 ||
c3 D19 2 610 2 2.25 21.62 1948 | T
ca D19 1 690 444 2.25 3.80 1687 | [
[ D19 4 390 74 2.25 .88 731 |
T 11 574 ke
F 1 D32 9 450 33 6.23 58.87 1043 |
F 2 D32 7 210 31 6.23 a4.92 1303 | —
F 3 D19 10 800 27 2.25 24.30 656 | —
F 4 D19 8 070 2% 2.25 18.16 454 | —
F § D29 7 320 33 5.04 36.80 1217 |
F 8 D19 8 270 27 2.25 18.61 502 | —
F 7 D19 6 970 14 2.25 15.68 220 | —
F 8 D19 7 700 14 2.2 17.33 243 | —
) D19 1780 520 2.25 4.01 2085 | [
A B 8 713 ks
D35 7 210 ke
D32 4443 kg
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